


In the questions given, each 

statement has been divided into 

four fragments, one of which may 

contain an error. You are to mark 

the fragment containing the error as 

your answer. If no fragment has an 

error, mark E as your answer.



If Martin Luther King was alive, he would feel sorry for the 

destitute who still struggle everyday

to make both ends meet.

1. If Martin Luther King

2. was alive, he would feel sorry

3. for the destitute who

4. still struggle everyday to make both ends meet

5. No error.



When Marcus founded Irish Writing in 1946, he 

courted writers of short stories and poetries, rather 

than novelists, to fill its pages.

1. When Marcus founded Irish Writing

2. in 1946, he courted writers of short

3. stories and poetries, rather than

4. novelists, to fill its pages.

5. No error



The organisation has appointed consultants to 

help them increase its profit and improve its 

financial position. 

1. The organisation has appointed

2. consultants to help them

3. increase its profit and

4. Improve its financial position.

5. No error.



One should keep his morals 

intact if one wants respect from 

both friends and enemies. 

1. One should keep

2. his morals intact if one wants

3. respect from 

4. both friends and enemies.

5. No error



When I read his biography, I 

hardly found something in his 

character that I could admire. 

1. When I read his biography, 

2. I hardly found something 

3. in his character that 

4. I could admire. 

5. No error



If the Principal will make strict rules the

unruly students will come under control. 

1. If the Principal will make strict rules

2. the unruly

3. students will come 

4. under control. 

5. No error



In the question below, there is a word given which 

is followed by five options. In each of the options, 

a pair of words is given which is either the pair of 

synonyms or antonyms or synonym and antonym 

of the word given in bold. Choose that pair as your 

answer.



ZEALOUS

1. Droopy, Gigantic

2. Tenacity, Assiduity

3. Fervent, Apathetic

4. Conceited, Capacious

5. None of the above



CASTIGATE 

1. Criticize, Jump 

2. Compliment, Communicate 

3. Berate, Flatter 

4. Rebuke, Throw 

5. Bash, Inform



ADUMBRATE 

1. Portend, Captivating 

2. Ignite, Adorable 

3. Obscure, Fetching 

4. Foretell, Luscious 

5. Foreshadow, Illuminate



OPACITY

1. Obscurity, Murkiness 

2. Turbidity, Sturdiness 

3. Turmoil, Transparency 

4. Impenetrability, Rigid

5. None of the above



In each of the following questions a 

sentence is given with some part of 

it marked in bold. You have to 

identify the option that would replace 

the bold part and make the sentence 

contextually and grammatically 

correct. If no correction is required, 

then mark option 'E' as your answer.



Indian banks will have to brace themselfs for a prolonged

period of lower profits resulting from a hit in revenues and 

almost zero new business.

1. will had to brace themselfs for a prolonged

2. will have to bracing themselves for a prolonged

3. will have been brace themselfs for a prolonged

4. will have to brace themselves for a prolonged

5. None of these.



When we coming out of the movie theatre it was 

half past nine.

1. After we came out of the

2. When we have come out of the

3. When we had come out of the

4. When we come out of the 

5. No replacement required



A misogamist is a person who 

doesn’t believing over any 

institution of marriage.

1. who doesn’t believing in

2. who is not believing over

3. who doesn’t believe in

4. who doesn’t believes in

5. No replacement required



Digital world and new channel 

should work

in harmony and they want to create

transparency in the news.
1. should work in harmony if they want 

to creates transparency

2. should work in harmony if they want 

to create transparency.

3. should work in harmony and they 

want to create transparent

4. should work in harmony if he want to 

create 

transparency



His intellectual practice has remained under 

explored in the realm of the study of Indian 

intellectual traditions.

1. Under- explored at the realm

2. Under- explored of the realm

3. Under- explored for the realm

4. Under- exploring from the realm

5. No replacement required



In the following question, a 

highlighted word 

followed by three sentences is 

given. Select the sentence(s) in 

which the highlighted word has 

correctly been used.



SPECTRUM

A. He has used the spectrum of colors in the rainbow 

effectively to create an atmosphere of calm.

B. The research team is now exploring the 

possibility of using eye contact sensor glasses to 

treat children with autistic spectrum disorder.

C. The acute effects that may be induced by psychedelic 

drugs encompass a broad spectrum of alterations.

1. Only A 

2. Both B and C

3. Both A and B 

4. Only B

5. A, B and C



COGNIZANT

A. I wonder if the experts are truly cognizant of the unnecessary 

division that separates the layman from the cultured.

B. He was emotionally lost at that point, and I don’t 

think he was too cognizant of anything or anybody.

C. Since Independence, Lata Mangeshkar has been

cognizant from the soundtrack of our everyday lives.

1. Only A 

2. Both B and C

3. Both A and B 

4. Only B

5. Both A and C



EXPEDITE

A. Make sure you have his social-security number 

so that you can expedite the filing process.

B. She genuinely, and far less self-interestedly than most, 

wanted to help expedite young talent to the empyrean.

C. The activities at this office have become costly because of 

the movements to expedite the issuance and processing of 

passports.

1. Only A

2. Both B and C

3. Both A and B 

4. Only B

5. Both A and C



TURBULENCE

A. Movement of the gas near the surface causes vigorous 

turbulence that produces a broad spectrum of random noises.

B. It is extremely uncomfortable as the plane is thrown 

around violently, in the worst turbulence imaginable.

C. A society where the social divide between haves and 

have-nots has become a turbulence, is a society that breeds 

violence and brutality.

1. Only A

2. Both B and C

3. Both A and B 

4. Only B

5. Both A and C



(a) The calamity also sparked speculations on what caused the 

deluge. 

(b) Rescue efforts are still continuing, with more than 170 

people missing.

(c) Now a team of scientists investigating the incident believe a 

piece of a Himalayan glacier did fall into water and trigger the 

huge flood in the state.

(d) Did a landslide cause a glacial lake to burst, or did ice 

blocks break off a glacier due to a rise in temperature?

(e) A devastating flash flood in India's northern state of 

Uttarakhand killed at least 32 people and trapped workers in 

underground tunnels. 
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